| Efficiency vs Dxy |

.05
<

S
RO4BE it
= C
D04t
o F
~@_035 e

0.025

0.02
0.015F
0.00F -
0.005f-+--

Q 5 5 :
0.03irrrrieees AR

.......................................

b

0.8

Ratio

0.6

-25 20 15 10 —5 O 5 10 15 20 25

| Efficiency vs Dz |

TP dxy (cm)

_ MRETI0000__RECO

—— —V0001"R0O00000001—Global—mkFit1000_ "RECO

—— DOM_V0001 _ROOOOOOOOl_GIObaI_mkFIthOOKTIme RECO
—V0001~"R000000001Global——mkFit1000CTime"_RECO

—=— DQM_V0001I_R0O00000001 Gfobaf
§ —mkFit1000MTime_RECO

M‘VOOOl‘ROOOOOOOOl_GIObal

—__D

N 0.1
o

o)
.08

S g
E0.07F e
o C

0.06f

0.05 :
0.04 -l
0.03
0.02
0.0k it

D.09f ----------

.................................

21-

q

0.8

Ratio

[T T T [ T T T T TTTTIJTTTT[ITTI]
T T

o
o

L 2

|
W
o

20 30
TP dz (cm)

10




	Contents
	Page 1


